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Algebraic Fractions -

Formulae

@ Section 21.5 Rearranging formulae

(Example 1 )

If bc —d = a, make c the subject of the formula.

(Example 2 )
b

If a= ra d, make b the subject of the formula.

( Example 3 )

If y= _b , make x the subject of the formula.



Exercise 21.5

1. Change the following equations to the form y = ...

() 2x+y—4=0 (i) 2x+y=—7 (i) 3x+y—7=0

2. Make the underlined letter the subject of the formula in each of the following:

(i) 2x—4=y (i) a=8b—6

(i) c=4d —1 (iv) h=2k—2

3. Rearrange each of these formulas to make the underlined letter the subject:

(i) a=3b—5 (i) b=4w+ 2

(iii) d=6e— 12 (iv) g=18—5h

4. Which of the following are correct rearrangements of a =2b — 107

A B/ C/ D EJ (F

b=9"1 b=S+5 b=

2 b="95 b="95

5. Copy and complete each of the following:

i) v=u+at (i) ap + bg = k (i) p=%+3h
v—| |=at ap =k — p— :%
k — _ _
t=... p=—— (p )
g:

6. Make x the subject of the formula in each of these:

(i) x—y=2z (i) 3x —b=4c

(iii) 6y +3x=7 (iv) 2 —2y=28

W

a+ 10 e a— 2 10+ a




7. Make a the subject of the formula in each of these:
() 2a—b=1 (i) ab—3a=5 (iii) 7(a—3)=4b

8. Make the letter in brackets the subject of the formula in each of the following:

(i) c= > 4b ... (a) (i) 2(a — 2b) = 3c... (a) (iii) 2x 3T 3 (x)
i e g @ _y- 2z _b_3c
(iv) 5(b—3) = > - (b) (V) x= 3 (2) (vi) a= >~ 7 (b)
9. Make x the subject of the formula in each of these:
, e . o 2 x—1
(i) xa+ xb=3c (i) ax—3x=5 (|||)y+§— 3

10. If k = s(a — b), make b the subject of the formula.

11. Theformula h = % + j gives hin terms of g, k and j.

Which of the following are correct rearrangements of the formula?

?azhk—j ?azk(h—ﬂ ?a=jk—kh ?az k ?a=hk—jk

12. Make the letter in brackets the subject of the formula in each of the following:

(i) xzzy;?)z...(z) (i) §+%=2a...(b)
(i) %ZS(erz)...(y) (iv) %z%ﬂ . (b)



12. Make the letter in brackets the subject of the formula in each of the following:
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i) y =32 i) =

3y +2
— 1
Hence find the value of y when z =

13. Giventhat z=

, express y in terms of z.

1
2|

(@ + b)h
2 ry

(i) Rearrange this formula to make h the subject.

(ii) Work out the height of a trapezium whose area is 100 cm? h

and whose parallel sides are 6.5cm and 7.8 cm.

14. The area A of a trapezium can be written A =

Give your answer to the nearest whole number.

A
=y

Exercise 21.5

1. ()y=4-—2x (i) y=—-2x—7
(i) y =7 — 3x
_ _y+4 . _a+6

2. (i) == (i) b= 3
o+ . _h+2
(i) d = 2 (W}k_T

_a+5 . _b-2

3. (i) b= 3 (II}W—18T
_d+ 12 . o —4g
(iii) e = 5 (iv) h = S

4, B, C F

5. (i) u,";“ (i) bg, bg, a
(iii) 3h, 5, 3h, 5(p — 3h)

6. ()x=y+2z (ii)xzbg“f
(iii)x=7_36y (iv) x = 3(2y + 8)
. _2b+1 .. . 5

7. (i) a= 2 (u)«:r——b_3
(iii)a=4b4}:21

8. (i) a=2(4b+ 0 (i) a = 20£3c¢

2
S AN : _a+30
(iii) x = 5 (iv) b= 0
_y— 3 .. .a+ 3c
(v) z = 5 (vi) b=4 >
9. ()x=_5 (i) x = >~
(iii) x = 3y + 3
1o.b:"5—_k:(a—ﬁ) 11. B,E
S s
12. (i}zzzy;4x (ii}b:mT_gc
_ 3x — 20z g _ bC
(i) y = 0 (iv) l:v—zﬂz_3
_ . q
(v) y=X=1 (vi) =
' y+24 P
o ... Pg
(vu}x——_3 (viii) P+
_Z+ 2,
13. y =25 -1
14. (i) h=2A (i) 14cm

vy



